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24jan11:VelResponse tracking error. Azvel=.001 deg/sec. (El=45 deg)
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24jan11:VelResponse tracking error. Elvel=.001 deg/sec. (El=45 deqQ)

? El:max,rms err: 0.5, 0.1 milliDeg E
= Az:max,rms err: 0.5, 0.2 milliDeg B
0 20 40 60 80

time [secs]

tracking error. Elvel=.01 deg/sec

o El:max,rms err: 0.5, 0.1 milliDeg B
— Az:max,rms err: 0.7, 0.2 milliDeg —
0 20 40 60 80

time [secs]

tracking error. Elvel=.1 deg/sec

El:max,rms err: 0.7, 0.2 milliDeg
Az:max,rms err: 0.5, 0.1 milliDeg

o

20 40 60 80
time [secs]

tracking error. Elvel=.4 deg/sec

El:max,rms err: 1.0, 0.3 milliDeg
Az:max,rms err: 0.8, 0.2 milliDeg

L

o

20 40 60 80
time [secs]



trking err [millidegrees] trking err [millidegrees]

trking err [millidegrees]

24jan11:VelResponse tracking error. Elvel and AzVel=.001 deg/sec. (El=45 deq)
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